H13
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1.2

Sample4(

Type2+

+

H13) .F8K

5 X 2000=10000

Lg

000v

N

N
Jg

FORUMS8



500

4000

3000

500

GL+12.750 ‘

GL+12.000 I ———

GL+9.000

GL+6.000

GL+3.000

GL £0.000

0L

000¢ 1=000¢ x ¥

0009

FORUMS8




B-B
5 X 2000=10000
2 X 5000=10000
GL+12.750 | .
GL+12.000 = &
GL+9.000
o
X
8
GL+6.000 S
1l
N
o
S
GL+3.000
GL+0.000
1.3
1.3.1
¢ 1)
ii( )
2
0.200
0.200
0.200
= 0.200
= 0.200

FORUMS8




1.3.2

1.3.3

1.3.4

AL

/ 300.000
3.000 (cm)

/1

0.000 (kN/ )

0.300 (cm)
100.000 (N/mm?)

1.000 (cm)
100.000 (N/mm?)

0.010 (m)

1000x 2000

1000x 3000 | 1000x 2000 | 1000x 3000

O X O X X X X

X X X X X X X

O X O X X X X

X X X X X X X

FORUMS8




O X O X X X X

1.3.5
X
X
X
X
o
X
(o)
O
1.4
1.4.1
- m 5.000
- m 5.000
(m
1 2.000
2 2.000
3 2.000
4 2.000
5 2.000
(m
1 2
2 2
3 2
4 2
5 2
(m
1 4.000
2 3.000
- m 8.000
LL m 0.500
LR m 0.500
1.4.2

FORUMS8




h m
1 3.000
2 3.000
3 3.000
4 3.000
hL 5.000
G.L. - 0.000
1.5
1.5.1
ap af
N
N 30.000
5.00 (m)
x 10° 2.00 (N/mm?*)
15000.00 (KN/m®)
1.5.2
a Eo
m N (kN/m) (KN/) (KN/1)
1 1.000 5.000 300.000 0.00 0.000
2 1.000 10.000 420000 0.00 0.000
3 1.000 5.000 0.000 0.00 0.000
4 1.000 5.000 200000 0.00 0.000
5 1.000 20.000 0.000 0.00 0.000
6 4.000 50.000 0.000 0.00 0.000
1.6
1.6.1
| |
0.40 0.40
| ]
0.25 0.20
0.25 0.20
0.25 0.20

FORUMS8



0.40 0.40
0.40 0.40
1.6.2
200(mm)
m 1000x 2000
1)
2)Aw 8.10 (cm?)
3)Z 312.0 (cm®)
m 1000x 3000
1)
2)Aw 8.10 (cm?)
3)Z 312.0 (cm®)
H
1.6.3
1)
2)Aw 54.00 (cm?)
3)Z 2720.0 (cm®)
4) 1880.0 (N/m)
5) 2.0 (m)
6) ( )
1.6.4
1.7
1.7.1 ()
s1Pl S2
I’—_‘1 ] [ ][ l——‘I
€L L €L I
1) 0.000 (m)
2) 0.000 (m)
3) 0.000 (kN/m)
4) 0.000 (kN/m)

FORUMS8



1.7.2
1) 1000 x 2000 1.840 (kN/m?)
1000 x 3000 1.840 (kN/m?)
1.840 (kN/m?)
2) 0.100 (kN/m2)
3) 0.100
1.7.3
1.7.4
1.7.5
1.7.6
1) D408S
+
¥ A ' =
2) 480.000 (kN)
3) 50.000 (kN)
4) 4.470 (m)
5) B 4.000 (m)
6) 0.800 (m)
7 0.800
8) 0.600
9) 0.700
10) 0.900

FORUMS8




1.7.7
L R
' I ] [ ]
I T T -
D
2) () 0.000 (m)
3 ) 0.000 (m)
4)
1.7.8
|
4~5
d~2 2~3 3~4 5~6 _
$$ﬁ§7ﬁ ) (3)(4) (5)(6) B 75 [ E b
1 NK 300
2) 2.10 (m)
3) 3
) (m
1- 2 3.850
2- 3 1.350
5 C )&y
1 32.000
2 64.000
3 64.000

FORUMS8



- 10 -

1.7.9

D
2)
3)
4)

1.7.10

D
2)
3)
4)
5)
6)
7
8)

~ A~

o/ o/

5

77 RUY—FElbR
(EFAR)

y(W+T) a(W+T)
79—
Falfm (AT

W 320.000 (kN)
T 30.000 (kN)
«C ) 4.750 ()
«C ) 5.600 (m)
o 0.700
B 0.150
y 0.150
0.500 (m)

5

77 bUY—FElb
(EFAM)

y(W+T) a(W+T)
sl
Fefm GETT A )

0.000 (m)
0.000 (m)

FORUMS8




- 11 -

1.8

1.50

(N/mm?)

(N/mm?)

SS400
SS400
SS400
SS400
SS400
SS400
SS400

1.9

ZE M) tHERS . 2': ‘fo " 5
3.50
5.50
e O o
8.00 * \\
9.50 X
® o o o
e o o o
e o o o
e 6 o o
300 |® ® ® ® /
e o 0 o L
e o o o
e o o o
e 0o 0 o
e o o o
e 0o 0 o
e O o o
e o 0 o
20.00 e o o0

FORUMS8




- 12 -

1.10
1) ( 13)
2) ii
3)
) 5.000()
5)
8.000(m)
0.500(m)
0.500(m)
5.000(m)
12.000(m)
2.000(m)
4.500(m)
4.000(m)
6)
1.
a Eo
m N (kN (kN KN/
1 1.000 5.000 300.000 0.00 0.000
2 1.000 10.000 420.000 0.00 0.000
3 1.000 5.000 0.000 0.00 0.000
4 1.000 5.000 200.000 0.00 0.000
5 1.000 20.000 0.000 0.00 0.000
6 4.000 50.000 0.000 0.00 0.000

FORUMS8



- 13 -

2.1

2.1.1

2.1.2

1000x 2000(2.0m)
(N/mm?)

50.338

70.037

165.545

165.545

210.000

1) (

2) 2 (1000x 2000)

3) ( 1

M =wx 1/8=  1.000 (kN.m)

( + )x (

2.000 (kN/m)
2.000 (m)

FORUMS8




- 14 -

4) «
0.750 . 0500 = 0.750

588.000kN/m

2.000

Mmax = 128.625 (KkN.m)

w I
W, = 588.000 (kN/m)

5) ( ) H1
2 1000 x 2000
> M= Mmax x 0.400 + Md x 20/100 = 51.650 (kN.m)

6)
6 =3M/Z= 165.545 (N/mn?)

VA = 312.000 (cm®)

FORUMS8



- 15 -

2.1.3

2.1.4

1000x 2000(2.0m)
(N/mm?)

38.779

57.434

127.531

127.531

120.000

D

2)

3)

Sd =w x

1/72-=

2 (1000x 2000)

2.000 (kN)

+ )x (

2.000 (kN/m)
2.000 (m)

FORUMS8




- 16 -

4)

5)

6)

0.500 1.500

588.000kN/m

2.000

Smax = 257.250 (kN)

w I
W, = 588.000 (kN/m)

( ) H 1
2 1000 x 2000

> S =Smax x 0.400 + Sd x 20/100 =

T =3S /A= 127.531 (N\/mn?)

A = 8.100 (cm?)

103.300 (kN)

FORUMS8




- 17 -

2.2
2.2.1
(kN.m)
— G 2 2- 256.763
— G 2 2- 257.302
_ G 2 2- 304.648
— G 2 2- 304.648
2.2.2
1
2) G2
3) 2-
4)
( H-350x350x12x19)
() 2.000 x 2.000 / 2 = 2.000
() 2.000 x 2.000 / 2 = 2.000
= 1.324
Wd = 5.324 (kN/m)
I1 = 0.000 (m)
P1 = 0.000 x ( 0.000 + 0.000) /2.0=0.000 (kN)
12 = 0.000 (m)
P2 = 0.000 x ( 0.000 + 0.000) /2.0=0.000 (kN)

( )
Md =Wd x IH/ 8.0 +PLx (IH-11)/1IHx Il
+P2x (MH-12)71Hx 12 = 10.648 (kN.m)

IH : = 4.000 (m)

FORUMS8




- 18 -

5) « ) 2
10.000
2.000 4.750 | 3.250
245.000kN
52.5?0kN
[ JC ][ I I |
1 B 1 1
(W+T) x 0.700 = 245.000 (kN)
(W+T)x 0.150 = 52.500 (kN)
= 245.000 (kN)
10.000
2.000 4.750 | 3.250
52.500kN
0.000kN
| C [ I [ |
1L [ 1 1
W+T)x 0.150 = 52.500 (kN)
= 0.000 (kN)
= 52.500 (kN)
W s = 320.000 (kN)
T : = 30.000 (kN)
=2
= 245.000 (kN)
= 52.500 (kN)

FORUMS8



- 19 -

6)

« D
4.000
2.000 . 2.000
245.000kN
| |
A
Mmax = 245.000 (kN.m)
Imax : Mmax = 2.000 (m)

245.000 x 0.200

10.648 (KN.m)
245.000 (KN.m)
49.000 (KN.m)

304.648 (KN.m)

FORUMS8




- 20 -

2.2.3
(kN)
— G 2 2- 268.483
— G 2 2- 277.000
— G 2 2- 304.648
— G 2 2- 304.648
2.2.4
1)
2) G2
3) 2-
4)
( H-350x350x12x19)
() 2.000 x  2.000 / 2 = 2.000
() 2.000 x  2.000 / 2 = 2.000
= 1.324
Wd = 5.324 (kN/m)
11 = 0.000 (n)
PL = 0.000 x ( 0.000 + 0.000) /2.0=0.000 (kN)
12 = 0.000 (m)
P2 = 0.000 x ( 0.000 + 0.000) /2.0 = 0.000 (kN)
( )
RL=Wdx IH/2.0+Plx (IH-11)7/1H
+P2x (IH-12)/71IH= 10.648 (kN)
R2=Wd x IH+Pl+P2 -Rl = 10.648 (KkN)
sd= (Rl R2 ) = 10.648 (kN)
IH : = 4.000 (m)

FORUMS8




- 21 -

5) « ) 2
10.000
2.000 4.750 | 3.250
245.000kN
52.5?0kN
[ JC ][ I I |
1 B 1 1
(W+T) x 0.700 = 245.000 (kN)
(W+T)x 0.150 = 52.500 (kN)
= 245.000 (kN)
10.000
2.000 4.750 | 3.250
52.500kN
0.000kN
| C [ I [ |
1L [ 1 1
W+T)x 0.150 = 52.500 (kN)
= 0.000 (kN)
= 52.500 (kN)
W s = 320.000 (kN)
T : = 30.000 (kN)
=2
= 245.000 (kN)
= 52.500 (kN)

FORUMS8



- 22 -

« D
4.000
4.000
245.000kN
| |
A A
Smax = 245.000 (kN)
6)
= 10.648 (kN)
= 245.000 (kN)
245.000 x 0.200 = 49.000 (kN)

wn
1]

304.648 (KkN)

FORUMS8




- 23 -

2.2.5

2.2.6

2.2.7

SS400
H-350

x350x12x19

o ba = 185.057 (N/mm?)

T

1/b 4.5 oba-=
45 1I/b 30.0 oba-=
[ I
b :
1/b
a= 120.0 (N/mm®)
H-350x350x12x19
=M/ Z = 133.618 (N/mm?)
M
Z :
=S/ Aw = 81.370 (N/mm?)
S
Aw :
5Mmax1?
= 0.513 (cm)
48E1
Mmax :
(
I -
| 2
E

210 (N/mm?)
{140 - 2.4 x (I/b-4.5) 1} x 1.50 (N/mm?)

400.000 (cm)
35.000 (cm)
11.43

185.057 (N/mm?)

304.648 (kN.m)

2280.000 (cn?)

120.000 (N/mm?)

304.648 (kN)

37.440 (cm?)

= 1. 333 (cm)

245.000 (kN.m)

N 1

400.000 (cm)
39800.000 (cm*)
2.0x 10°(N/mm?)

FORUMS8



- 24 -

2.3
2.3.1
(kN.m)
— B 1 427.996
— B 2 441.816
— B 2 387.886
— B 2 387.886
2.3.2
1) « )
2) 2
3)
4)
1 G 1
2 G 2
3 G 3
5)
Rdi = wdi x 11 rdi
Rdi
(kN/my | rdi(kN) (kN)
1 G 1 3.324 0.000 11.634
2 G 2 5.324 0.000 18.634
3 G 3 5.324 0.000 18.634
4 G 4 5.324 0.000 18.634
5 G 5 5.324 0.000 18.634
6 G 6 3.324 0.000 11.634
Rdi :
I :( )/ 2 = 3.500 (m)

FORUMS8




- 25 -

6)

« )
« )
8.000
1.459 | 4.023 2.518
230.549kN/m
O-OOOKMWWWWW”W mmm
| _ |
L 1 1
« )
Rcl = 362.560 (kN/m)
Rc2 = 155.383 (kN/m)
wl :
wi=W+T)x 0.700 / (0.900 x b x C x 1/2)
w2
w2 =MW+ T) x 0.300 7/ (0.900 x Ib x Cx 1/2)
W : = 480.000 (kN)
T: = 50.000 (kN)
b : = 4.470 (m)
C: = 0.800 (m)

230.549 (kN/m?)

98.807 (KN/m?)

FORUMS8



- 26 -

« D
10.000
1.600 0.80Q 2.400 P.SO% 4.400
362.560kN ‘ ‘
155.383kN
| C I I I |
1T 1 1 1T T
2
(kN)
1 G 1 14.502
2 G 2 261.043
3 G 3 64.225
4 G 4 74.584
5 G 5 0.000
6 G 6 0.000
7
5.000
2.000 . 2.000 ~ 1.000
18.634kN 18.634kN
11.6B4kN
| |
A A
Md = 35.086 (KkN.m)
I : = 5.000 (m)
Imax : Mmax ( ) = 2.000 (m)
wd : = 1.687 (kN/m)

H-400x400x13x21

FORUMS8



- 27 -

8)

5.000
2.000 . 2.000 1.000
|
261.043kN
14.5b24N 64.2125kN
A A
Mj = 338.942 (kN.m)
Imax : Mmax = 2.000 (m)

338.942 x 0.200

35.086 (KN.m)
338.942 (kN.m)
67.788 (KN.m)

441.816 (kN.m)

FORUMS8




- 28 -

2.3.3
(kN)
— B 1 375.808
— B 2 392.739
— B 2 332.634
— B 2 327.279
2.3.4
1) « )
2) 2
3)
4)
1 G 1
2 G 2
3 G 3
5)
Rdi = wdi x 11 rdi
Rdi
(kN/m) | rdi(kN) (kN)
1 G 1 3.324 0.000 11.634
2 G 2 5.324 0.000 18.634
3 G 3 5.324 0.000 18.634
4 G 4 5.324 0.000 18.634
5 G 5 5.324 0.000 18.634
6 G 6 3.324 0.000 11.634
Rdi :
I :( Y/ 2 = 3.500 (m)

FORUMS8




- 29 -

6)

« )
« )
8.000
1.459 | 4.023 2.518
230.549kN/m
O-OOOKMWWWWW”W mmm
| _ |
L 1 1
« )
Rcl = 362.560 (kN/m)
Rc2 = 155.383 (kN/m)
wl :
wi=W+T)x 0.700 / (0.900 x b x C x 1/2)
w2
w2 =MW+ T) x 0.300 7/ (0.900 x Ib x Cx 1/2)
W : = 480.000 (kN)
T: = 50.000 (kN)
b : = 4.470 (m)
C: = 0.800 (m)

230.549 (kN/m?)

98.807 (KN/m?)

FORUMS8



- 30 -

7

« D
10.000
0.80Q 2.400 P.BO% 6.000
362.560kN l ‘
‘ 155.383kN
_C I I I I
1T 1 €T €T
(kN)
1 G 1 232.038
2 G 2 82.871
3 G 3 99.445
4 G 4 0.000
5 G 5 0.000
6 G 6 0.000
5.000
2.000 . 2.000 1000
18.634kN 18.634kN
11.6B4kN
|
A
Sd = 30.759 (kN)
I : = 5.000 (m)
wd : = 1.687 (kN/m)

H-400x400x13x21

FORUMS8



- 31 -

8)

5.000
2.000 2.000 1.000
232.038kN
82.871kN 99.445kN
[ |
A AN
Sj = 301.650 (kN)
= 30.759 (kN)
= 301.650 (kN)
301.650 x 0.200 = 60.330 (kN)

392.739 (kN)

FORUMS8




- 32 -

2.3.5

2.3.6

2.3.7

SS400
H-400

x400x13x21

o ba = 181.200 (N/mm?)

T

1/b
45 1/b 3

[ I
b :
1/b

a= 120.0 (N

H-400x400

M/ Z=132.

S/ Avw = 84

Aw :

5Mmax1?
48E1

Mmax :

4.5 0 ba
0.0 oba

/mm?)

x13x21

678 (N/mm?)

.387 (N/mm?)

0.663 (cm)

210 (N/mm?)
{140 - 2.4 x (I/b-4.5) 1} x 1.50 (N/mm?)

500.000 (cm)
40.000 (cm)
12.50

181.200 (N/mm?)

441.816 (kN.m)

3330.000 (cn?)

120.000 (N/mm?)

392.739 (kN)

46.540 (cm?)

= 1. 667 (cm)

338.942 (kN.m)

N 1

500.000 (cm)
66600.000 (cm*)
2.0x 10°(N/mm?)

FORUMS8



- 33 -

2.4
2.4.1

2.4.2

D

2)

(kN)
(kN)
418.179 106.000
432.636 106.000
328.568 70.000
317.858 70.000
1/1

FORUMS8



- 34 -

3)

Nd = (Ndl + Ndr) + nd = 77.618 (kN)
Ndl = = (Ri x Li) / =  22.361
Ri Li
(kN)
1 6 1 11.634 0.000
2 G 2 18.634 2.000
3 G 3 18.634 4.000
Ndr = = (Ri x Li) / = 22.361
Ri Li
(kN)
1 G 4 18.634 4.000
2 G 5 18.634 2.000
3 G 6 11.634 0.000
1.687 x (+ ) /2.0=  8.435 (kN)
0.297 x Isl = 3.119 (kN)
0.146 x 1s2 = 1.787 (kN)
0.146 x v = 4.051 (kN)
0.912 x IKUI = 15.504 (kN)
= 0.000 (kN)
32.896 (kN)
nd : = 32.896 (kN)
Isl = 10.500 (m)
Is1 = ((Ik1+1k2) / 2.0) x 3
Is2 : = 12.234 (m)
”v/(lkl)z ( 1 )2 /w/(1k1)2 (lside)z
Is2 = — |t =] t — |t
2.0 2.0 2.0 2.0
“V/(lkz)z ( 1 )2 N/(1k2)2 (lside)z
+ — |t || + —| +
2.0 2.0 2.0 2.0
lv.  BMETL—RAEEX = 27.728 (m)
lv = 21vn
1vl = 1k1*+ 3.000° + {1k2%+ 3. 000% = 9.243 (m)
1v2 = 1k1*+ 3.000° + {1k2%+ 3. 000% = 9.243 (m)
1v3 = {1k1*+ 3.000° + {1k2*+ 3.000° = 9.243 (m)
IKUI : = 17.000 (m)

FORUMS8



- 35 -

Nj = 295.849 (kN)

10.000
3.600 0.800 2.400 10.800 2.400
362.560kN
’ 155.383kN
L L L L L L
0.400 5.000 ! 5.000 !
(
Ri Li
(kN) (m
1 G 1 0.000 0.000
2 G 2 14.502 2.000
3 G 3 261.043 4.000
Ri Li
(kN) (m

1 G 4 64.225 4.000
2 G 5 74.584 2.000
3 G 6 0.000 0.000

= 77.618 (kN)

= 295.849 (KN)

295.849 x 0.200 = 59.170 (kN)

171 Nx 1/1

432.636 (KN)
432.636 (KN)

FORUMS8




- 36 -

2.4.3
1
Hd = (W1 + W2 + W3 + W4 + W5 + W6 + W7) x kh = 28.881 (kN)
Wi :
Wl = (WFL x Bfl + WF2 x Bf2) x = 80.000 (kN)
WFL : 2m + = 2.000 (kN/m?)
Bfl : 2m + = 5.000 (m)
WF2 : 3m + = 2.000 (kN/m?)
Bf2 : 3m + = 0.000 (m
w2 :
W2 = (WL +WR)x (I +1Iside) /2.0= 0.000 (kN)
WL : = 0.000 (KN/m)
WR : = 0.000 (KN/m)
I : = 5.000 (m)
Iside : = 5.000 (m
W3 :
W3 =N x WN x = 21.184 (kN)
N = 2.()
WN : = 1.324 (kN/m)
W4
W4 =WH x IH x N = 25.305 (kN)
N - = 3(C)
WH : = 1.687 (kN/m)
IH : = 5.000 (m)
W5 :
W5 = Wsl x 1Isl = 6.237 (kN)
Wsl : = 0.297 (KN/m)
Isl : = 21.000 (m)
W6 :
W6 = Ws2 x 1s2 / 2.0 = 3.575 (kN)
Ws2 : = 0.146 (kN/m)
Is2 : = 48.936 (m)
W7
W7 =W x 1lv = 8.102 (kN)
Wy = 0.146 (kN/m)
v = 55.456 (m)
kh :
kh = 0.200
2)
Hj = R x kh = 106.000 (kN)
R : [ ]
R = W+T = 530.000 (kN)
W = 480.000 (kN)
T: 0 = 50.000 (kN)
kh :
kh = 0.200

FORUMS8




- 37 -

3)

28.881 (KN)
106.000 (kN)

134.881 (KN)

FORUMS8




- 38 -

2.4.4

B L(2.043) 2.50

H =2XZH/n

Mo =(1+Bh)x H/2p
Mo( )= 122.471 x 1.10

Mmax = H /28 x v (1+ (Bh)?) x exp

Mmax ( )= 43.903 x 1.10

= 44.960 (kN)
134..881(kN)
3
= 122.471  (KN.m)

= 134.718  (kN.m)

(-BIm)= 43.903 (kN.m)
= 48.294  (KN.m)

Im =1/3 x tan®(1/Bh) = 1.675 (m)
5 =((1+Bh)+2)x H/ (12EIB? = 1.772  (cm)
5( )= 1.772 x 1.20 = 2.126  (cm)

h : = 3.000 (m)

[ 2 = 20200.000 (cm*)

E : = 2.000 x 10°(N/mn?)

B =% (kh D/ (4E1))

kh :

= 0.00409 (1/cm)

30.000 (cm)
15.000 (N/cn?)
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2.4.5

oc/ocaz+ obcy / {obagy x (1-0cc/oceay) }

= 0.910 1.0
oc+obcy/ (1l-0c/ oeay)
= 142.414 o cal
ogc: = 36.540 (N/mm?)
o bey :
obcy = My / zy = 99.791 (N/mm?)
o caz : = 145.010 (N/mm?)
Ik/r 18 --- o caz = 210
18 Ik/r 92 ---ocaz = {140 - 0.8 x ( Ik/r - 18 ) } x 1.50
92 Ik/r --- 0 caz = 1200000 / { 6700 + ( Ik/r )%} x 1.50
Ik/r = 544.798 / 7.550 = 72.159
o bagy : = 160.824 (N/mm?)
Ib/b 4.5 --- ¢ bagy = 210
4.5 Ib/b 30 ---obagy = {140 - 2.4 x (lb/b - 4.5) } x 1.50
Ib/b = 544.798 / 30.000 = 18.160
o cal :
b* 13.1t" = 210.000 (N/mm?)
o eay :
o eay = 1100000 / ( Ik/ry )* = 636.011 (N/mm*)
N : = 432.636 (kN)
My -y = 134.718 (kN.m)
Ik : = 544.798 (cm)
Ib : = 544.798 (cm)
ILow : 1/ Ik
ILow = ILow™ + 1/ = 300.000 + 244.798 = 544.798

ILow" :
B:
B = (kh D7/ (4E1))
| 2
kh :
H-300x300x10x15
A :
zy 1y
ry -y
rz : z
b :

300.000 (cm)
0.00409 (1/cm)

= 20200.000 (cm*)

= 2.000 x 10°(N/mm?)
= 30.000 (cm)

= 15.000 (N/cm®)

118.400 (cm?)
1350.000 (cm®)
13.100 (cm)
7.550 (cm)
30.000 (cm)

FORUMS8
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T = H/ Av = 16.652 120.000 (N/mm?)
: = 44.960 (kN)
Aw : = 27.000 (cm?)
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2.4.6

Qa = ap X Qp + af X Qf =

669. 600 (kN)

ap: = 0.400
Qp : Qp = gp x Ap = 1080.000
ap (kN/m?)
gp = 400No = 12000.000 ( gp 15000)
(No = 30.000)
Ap : = 0.090 (m?)
of: = 0.400
of : Of = U x (Z lifi) = 594.000 (m?)
U : = 1.200 (m)
I :
Ii =1Ls :
Ii =Lc :
fi
fi = 3N 150
fi = 4N 200
fi = qu/2 10N 150
N : N
qu :
> lifi: = 495.000
No | li(m) qu fi (kN/m?) li fi
1 1.000 5.000 300.0 150.000 | 150.000
2 1.000 10.000 420.0 150.000 | 150.000
3 1.000 5.000 15.000 15.000
4 1.000 5.000 200.0 100.000 | 100.000
5 1.000 | —— 20.000 80.000 80.000
> 5.000 495.000
N max = 432.636 (kN) 669.600 (kN)
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2.4.7

)
D (
« )
8.000
1.459 | 4,023 2.518
230.549kN/m
o.ooowwwmmﬂmﬂ w
| — |
L | 1
(
Rcl = 362.560 (kN/m)
Rc2 = 155.383 (kN/m)
wl :
wl=W+T)x 0.700 / (0.900 x b x C x 1/2)
w2 :
w2 =W+ T) x 0.300 / (0.900 x Ib x Cx 1/2)
W : = 480.000 (kN)
T: = 50.000 (kN)
Ib : = 4.470 (m)
C: = 0.800 (m)

230.549 (kN/m?)

98.807 (kN/m?)
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10.000
0.800  2.400 P.soq 6.000
362.560kN l ‘
‘ 155.383kN
C I | ] ]
1 1 1
(kN)
1 G 1 232.038
2 G 2 82.871
3 G 3 99.445
4 G 4 0.000
5 G 5 0.000
6 G 6 0.000

FORUMS8
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2.5
2.5.1

2.5.2

1 1
N =H= 134.881 (kN)
ogc=N/A= 34.898 (N/mm?) oca= 62.119 (N/mm?)
H:1 = 134.881 (kN)
ccC
o ca = 62.119 (N/mm?)
1/r 18 --- o ca = 210
18 1/r 92 --- oca ={ 140 - 0.800 x (I/r -18) } x 1.500
92 I/r --- 0 ca = 1200000 / {6700 + (1/r)*} x 1.500
1/r = 149.254
[-200x90x8x13.5
A = 38.650 (cm?)
Il : = 4.000 (m)
r: 2 = 2.680 (cm)
T = 134.881 (kN)
1=T/7 (0.7p s ) = 64.229 (cm)
p = 100.000 (N/mm?)
S = 0.300 (cm)

FORUMS8
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2.6
2.6.1
1 )
Hv =H /n= 67.440 (kN)
T=Hv/ cos® = 95.375 (kN)
cosb =1/Vv (P+h)= 0.707
l: = 3.000 (m)
h: = 3.000 (m)
occ=T/A= 50.197 (N/mm?) oca= 33.310 (N/mm*)
oca: = 33.310 (N/mm?)
1/r 18 --- o ca = 210
18 I/r 92 --- oca=4{140 - 0.800 x (I/r -18) } x 1.500
92  Ur --- o ca = 1200000 / {6700 + (1/r)?} x 1.500
I/r = 217.571
L-100x100x10
A : = 19.000 (cm?)
1 : = 4.243 (m)
r 2 = 1.950 (cm)
2.6.2

T = 95.375 (kN)

1=T/7 (0.7p s ) = 13.625 (cm)
p : 100.000 (N/mm?)
S 1.000 (cm)

FORUMS8
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2.7
2.7.1

2.7.2

ocC

—
1

p

1 1/2
= 33.720 (kN)
=H/ cos® = 65.540 (kN)
cos® =127V (117 + 12%) = 0.514
11 : = 5.000 (m)
12 : = 3.000 (m)
=T/ A= 34.495 (N/mm?) oca= 18.728 (N/mm*)
cca: = 18.728 (N/mm?)
I/r 18 --- o ca = 210
18 1/r 92 -—- oca={ 140 - 0.800 x (I/r -18) } x 1.500
92 Ur --- o ca = 1200000 / {6700 + (1/r)*}x 1.500
1/r = 299.023
L-100x100x10
A = 19.000 (cm?)
l: = 5.831 (m)
r 2 = 1.950 (cm)
65.540 (kN)
T/7 (0.7p s) = 9.363 (cm)
: = 100.000 (N/mm2)
S : = 1.000 (cm)

FORUMS8
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2.8

2.8.1

D

2)

« D
2 (1000x 2000)
Md = 1.000 (kN.m)
Mmax =  128.625 (kN.m)

M = 51.650 (kN.m)
o = 165.545 210.000 (N/mm?)
« D
2 (1000x 2000)
Sd = 2.000 (kN)
Smax =  257.250 (kN)
S = 103.300 (kN)

T 127.531 120.000 (N/mm?)

FORUMS8
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2.8.2
1
2 2-
= 10.648 (kN.m)
= 245.000 (kN.m)
245.000 x 0.200 = 49.000 (kN.m)
M = 304.648 (KN.m)
2)
2 2-
= 10.648 (kN)
= 245.000 (kN)
245.000 x 0.200 = 49.000 (kN)
S = 304.648 (kN)
3)
H-350x350x12x19
Aw = 37.440 cm?
Z = 2280.000 cm®
o = M/ Z =133.618 (N/mm?)
o ha = 185.057 (N/mm?)
T = S/ Aw= 81.370 (N/mm?)
fs = 120.000 (N/mm?)
4)
o = 0.513 (cm)
da-= 1.333 (cm)

FORUMS8
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2.8.3

D

2)

3)

4)

338.942 x 0.200

35.
338.
67.

086 (kN.m)
942 (kN.m)
788 (kN.m)

301.650 x 0.200

441.

30

816 (kN.m)

2759 (KkN)
301.
60.

650 (KkN)
330 (kN)

H-400x400x13x21

Aw =

z

da

= 33

46
30

.540 cm?
.000 cm?®

M/ Z

S/ Aw

0.663 (cm)
1.667 (cm)

132.678 (N/mm?)
181.200 (N/mm?)
84.387 (N/mm?)
120.000 (N/mm?)

392.

739 (KN)

FORUMS8
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2.8.4

D

2)

3)

4)

5)

6)

)

295.849 x 0.200

77
295

.618 (kN)
.849 (KN)
59.

170 (kN)

432

28
106

636 x 1/1 =  432.636 (kN)

.881 (kN)
.000 (kN)

o c/o caz + o bcy/{o bagy x ( 1-0 c/c eay )}

H-300x300x10x15

A
z
Ry
Rz
B
Aw

118.400
1350.000

13.100
= 7.550
30.000
27.000

oc + obey/( 1-0 c/o eay )

Nmax =

432.636

669.600 (kN)

cm
cm
cm
cm
cm
cm

134.

44.
134.

881 (kN)

960 (kN)
718 (kN.m)

0.910 1.000
142.414 210.000

FORUMS8
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2.9

2.9.1

2 (1000x 2000)

Mmax 128.625 (kN.m)
o 165.545 210.000 (N/mm?)
Smax 257.250 (kN)

127.531 120.000 (N/mm?)

FORUMS8
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2.9.2

H-350x350x12x19

Mmax 304.648 (kN.m)

o 133.618 185.057 (N/mm?)
Smax 304.648 (kN)

T 81.370 120.000 (N/mm?)
0 0.513 1.333 (cm)

H-400x400x13x21

Mmax 441.816 (KN.m)

o 132.678 181.200 (N/mm?)
Smax 392.739 (kN)

T 84.387 120.000 (N/mm?)
) 0.663 1.667 (cm)

H-300x300x10x15

)
)
N = 432.636 (kN) M = 134.718 (kN.m)
S = 44.960 (kN)
ogc = 36.540 ob= 99.791 (N/mm?)
T = 16.652 T a= 120.000 (N/mm*)
1 - 0.910 1.000
A 142.414 210.000 (N/mm?)
432.636 669.600 (kN)
[-200x90x8x13.5
oc 34.898 62.119 (N/mm?) (N= 134.881kN)
64.229 (cm)
L-100x100x10
oc 50.197 33.310 (N/mm®) (T=  95.375kN)
13.625 (cm)
L-100x100x10
oc 34.495 18.728 (N/mm?) (T=  65.540kN)
9.363 (cm)

FORUMS8
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3.1

SR

Sl

1~2 |2~3 3~4 4~5
HHES EAH A ERRERE
1) @ O3 4
TT43
= 1.75(m) = 2.75(m)
( ) KN (m
1 30.000 3.250
2 65.000 7.800
3 60.000 1.550
4 60.000
T25
= 1.75(m) = 2.75(m)
C ) KN (m
1 25.000 4.000
2 100.000
T20
= 1.75(m) = 2.75(m)
¢ ) kN (m)
1 20.000 4.000
2 80.000
T14
= 1.75(m) = 2.75(m)
¢ ) KN (m
1 14.000 4.000
2 56.000
3
= 1.08(m) = 2.75(m)
( ) kN (m)
1 20.000 4.200
2 54.000

FORUMS8
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3.2

5
= 1.88(m) = 2.75(m)
¢ ) kN (m
1 25.000 3.160
2 55.000 1.880
3 30.000
= 1.90(m) = 2.75(m)
¢ ) kN (m
1 34.000 4.000
2 63.000
+ +
B A BIEC 4
15 B
D408S
= 480.000(kN) = 0.800
= 50.000(kN) = 0.600
A = 4.470(m) = 0.700
B = 4.000(m) = 0.900
c = 0.800(m)
P&H440S
= 400.000(kN) = 0.800
= 50.000(kN) = 0.600
A = 4.380(m) = 0.700
B = 3.960(m) = 0.900
c = 0.760(m)
P&H335AS
= 350.000(kN) = 0.800
= 30.000(kN) = 0.600
A = 4.280(m) = 0.700
B = 3.790(m) = 0.900
c = 0.590(m)
P&H325
= 280.000(kN) = 0.800
= 30.000CkN) = 0.600
A = 3.950(m) = 0.700
B = 3.030(m) = 0.900
§ = 0.590(m)

FORUMS8
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3.3

4~5

d~2 2~3 3~4 5~6

ERES () (3)(4)(5)(6) [ER=PaCE=L ]
{$% E£<W+T>
77 M— R
(EAHMH)
y(W+T) a(W+T)
77 hUS—
GECGEIE)
NK 300
= 2.10 (m)
¢ ) kN (m)
1 32.000 3.850
2 64.000 1.350
3 64.000
W = 320.000(kN) ()= 4.750(m)
T = 30.000(kN) ()= 5.600(m)
a=  0.700 = 0.500(m)
B=  0.150
y = 0.150
NK 200
= 1.90 (m)
C ) K (m)
1 20.000 3.980
2 40.000 1.240
3 40.000
W = 200.000(kN) ()= 4.450(m)
T = 30.000(kN) ()= 4.800(m)
a=  0.700 = 0.400(m)
B=  0.150
y = 0.150
20t
= 2.10 (m)
C ) KN (m
1 20.000 3.000
2 80.000
W = 200.000(kN) ()= 5.700(m)
T = 30.000(kN) ( )= 5.700(m)
a=  0.700 = 0.400(m)
B=  0.150
y = 0.150

FORUMS8
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4.1

25t
= 2.10 (m)
C ) K (m)
25.000 3.500
100.000
W = 250.000(kN) )= 6.300(m)
T = 30.000(kN) )= 6.200(m)
a= 0.700 = 0.400(m)
B=  0.150
y= 0.150
40t
= 2.10 (m)
C ) K (m)
35.000 4.250
140.000
W = 350.000(kN) )= 7.300(m)
T = 30.000(kN) )= 6.500(m)
a = 0.700 = 0.500(m)
B= 0.150
y= 0.150
H-200x200x8x12
= 489.0 (N/m) Af = 24.00(cm?)
Aw = 14.08(cm*) Z = 472.0 (cm’)
I = 4720.0 (cm?) i = 5.50(cm)
( ) h = 20.0 (cm) b = 20.0 (cm)
tl = 0.80(cm) 12 = 1.20(cm)
H-250x250x9x14
= 704.0 (N/m) Af = 35.00(cm?)
Aw = 19.98(cm%) Z = 860.0 (cm®)
I = 10700.0 (cm%) i = 6.91(cm)
( ) h = 25.0 (cm) b = 25.0 (cm)
tl = 0.90(cm) 12 = 1.40(cm)
H-300x300x10x15
= 912.0 (N/m) Af = 45.00(cm?)
Aw = 27.00(cm*) Z = 1350.0 (cm’)
I = 20200.0 (cm%) i = 8.23(cm)
( ) h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00(cm) 2 = 1.50(cm)
H-350x350x12x19
= 1324.0 (N/m) Af = 66.50(cm’)
Aw = 37.44(cm%) Z = 2280.0 (cm’)
I = 39800.0 (cm?) i = 9.65(cm)
( ) h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20(cm) 2 = 1.90(cm)

FORUMS8
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H-400x400x13x21

= 1687.0 (N/m) Af = 84.00(cm?)
5 Aw = 46.54(cm*) Z = 3330.0 (cm®)
I = 66600.0 (cm’) i = 11.00(cm)
( ) h = 40.0 (cm) b = 40.0 (cm)
tl = 1.30(cm) 12 = 2.10(cm)
H-450x200x9x14
= 735.0 (N/m) AF = 28.00(cm?)
6 Aw = 37.98(cm%) Z = 1460.0 (cm®)
I = 32900.0 (cm‘) i = 5.23(cm)
( ) h = 45.0 (cm) b = 20.0 (cm)
tl = 0.90(cm) 2 = 1.40(cm)
H-440x300x11x18
= 1187.0 (N/m) Af = 54.00(cm?)
7 Aw = 44..44(cm?) Z = 2490.0 (cm’)
I = 54700.0 (cm%) i = 8.16(cm)
( ) h = 44.0 (cm) b = 30.0 (cm)
tl = 1.10(cm) 2 = 1.80(cm)
H-500x200x10x16
= 865.0 (N/m) AF = 32.00(cm?)
8 Aw = 46.80(cm*) Z = 1870.0 (cm®)
I = 46800.0 (cm?) i = 5.20(cm)
( ) h = 50.0 (cm) b = 20.0 (cm)
tl = 1.00(cm) 12 = 1.60(cm)
H-488x300x11x18
= 1226.0 (N/m) Af = 54.00(cm?)
9 Aw = 49.72(cm*) Z = 2820.0 (cm’)
I = 68900.0 (cm%) i = 8.10(cm)
( ) h = 48.8 (cm) b = 30.0 (cm)
tl = 1.10(cm) 12 = 1.80(cm)
H-600x200x11x17
= 1010.0 (N/m) AF = 34.00(cm?)
10 Aw = 62.26(cm*) Z = 2520.0 (cm’)
I = 75600.0 (cm%) i = 5.09(cm)
( ) h = 60.0 (cm) b = 20.0 (cm)
tl = 1.10(cm) 12 = 1.70(cm)
H-588x300x12x20
= 1442.0 (N/m) Af = 60.00(cm?)
11 Aw = 65.76(cm?) Z = 3890.0 (cm’)
I = 114000.0 (cm) i = 8.01(cm)
( ) h = 58.8 (cm) b = 30.0 (cm)
tl = 1.20(cm) 2 = 2.00(cm)
H-594x302x14x23
= 1667.0 (N/m) AF = 69.46(cm?)
12 Aw = 76.72(cm?) Z = 4500.0 (cm’)
I = 134000.0 (cm‘) i = 7.96(cm)
( ) h = 59.4 (cm) b = 30.2 (cm)
tl = 1.40(cm) 12 = 2.30(cm)
H-700x300x13x24
= 1785.0 (N/m) A = 72.00(cm?)
13 AW = 84.76(cm’) Z = 5640.0 (cm’)
I = 197000.0 (cm‘) i = 7.95(cm)
( ) h = 70.0 (cm) b = 30.0 (cm)
tl = 1.30(cm) 12 = 2.40(cm)
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4.2

H-800x300x14x26

= 2030.0 (N/m) Af = 78.00(cm?)
14 Aw = 104.72(cm?) Z = 7160.0 (cm’)
I = 286000.0 (cm‘) i = 7.87(cm)
( ) h = 80.0 (cm) b = 30.0 (cm)
tl = 1.40(cm) 12 = 2.60(cm)
H-900x300x16x28
= 2354.0 (N/m) Af = 84.00(cm?)
15 Aw = 135.04(cm?) Z = 8990.0 (cm)
I = 404000.0 (cm‘) i = 7.68(cm)
( ) h = 90.0 (cm) b = 30.0 (cm)
tl = 1.60(cm) 2 = 2.80(cm)
H-912x302x18x34
= 2775.0 (N/m) Af = 102.68(cm?)
16 Aw = 151.92(cm?) Z = 10800.0 (cm®)
I = 491000.0 (cm‘) i = 7.84(cm)
( ) h = 91.2 (cm) b = 30.2 (cm)
tl = 1.80(cm) 2 = 3.40(cm)
H-200x200x8x12
= 489.0 (N/m) Af = 24.00(cm?)
1 Aw = 14.08(cm?) Z = 472.0 (cm®)
1 = 4720.0 (cm*) i = 5.50(cm)
( ) h = 20.0 (cm) b = 20.0 (cm)
tl = 0.80(cm) 2 = 1.20(cm)
H-250x250x9x14
= 704.0 (N/m) Af = 35.00(cm?)
2 Aw = 19.98(cm*) Z = 860.0 (cm%)
I = 10700.0 (cm%) i = 6.91(cm)
( ) h = 25.0 (cm) b = 25.0 (cm)
tl = 0.90(cm) 12 = 1.40(cm)
H-300x300x10x15
= 912.0 (N/m) Af = 45.00(cm?*)
3 Aw = 27.00(cm?) Z = 1350.0 (cm®)
I = 20200.0 (cm%) i = 8.28(cm)
( ) h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00(cm) 2 = 1.50(cm)
H-350x350x12x19
= 1324.0 (N/m) Af = 66.50(cm?)
4 Aw = 37.44(cm%) Z = 2280.0 (cm®)
I = 39800.0 (cm’) i = 9.71(cm)
( ) h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20(cm) 2 = 1.90(cm)
H-400x400x13x21
= 1687.0 (N/m) Af = 84.00(cm?)
5 Aw = 46.54(cm*) Z = 3330.0 (cm’)
I = 66600.0 (cm’) i = 11.00(cm)
( ) h = 40.0 (cm) b = 40.0 (cm)
tl = 1.30(cm) 12 = 2.10(cm)
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H-450x200x9x14

= 735.0 (N/m) Af = 28.00(cm?)
6 Aw = 37.98(cm?) Z = 1460.0 (cm®)
I = 32900.0 (cm%) i = 5.23(cm)
( ) h = 45.0 (cm) b = 20.0 (cm)
tl = 0.90(cm) 12 = 1.40(cm)
H-440x300x11x18
= 1187.0 (N/m) AF = 54.00(cm?)
7 Aw = 44.44(cm?) Z = 2490.0 (cm®)
I = 54700.0 (cm‘) i = 8.16(cm)
( ) h = 44.0 (cm) b = 30.0 (cm)
tl = 1.10(cm) 2 = 1.80(cm)
H-500x200x10x16
= 865.0 (N/m) Af = 32.00(cm?)
8 Aw = 46.80(cm?) Z = 1870.0 (cm’)
I = 46800.0 (cm%) i = 5.20(cm)
( ) h = 50.0 (cm) b = 20.0 (cm)
tl = 1.00(cm) 2 = 1.60(cm)
H-488x300x11x18
= 1226.0 (N/m) AF = 54.00(cm?)
9 Aw = 49.72(cm?) Z = 2820.0 (cm®)
I = 68900.0 (cm?) i = 8.10(cm)
( ) h = 48.8 (cm) b = 30.0 (cm)
tl = 1.10(cm) 2 = 1.80(cm)
H-600x200x11x17
= 1010.0 (N/m) Af = 34.00(cm?)
10 Aw = 62.26(cm?) Z = 2520.0 (cm’)
I = 75600.0 (cm%) i = 5.09(cm)
( ) h = 60.0 (cm) b = 20.0 (cm)
tl = 1.10(cm) 12 = 1.70(cm)
H-588x300x12x20
= 1442.0 (N/m) AF = 60.00(cm?)
11 Aw = 65.76(cm?) Z = 3890.0 (cm’)
I = 114000.0 (cm%) i = 8.01(cm)
( ) h = 58.8 (cm) b = 30.0 (cm)
tl = 1.20(cm) 12 = 2.00(cm)
H-594x302x14x23
= 1667.0 (N/m) Af = 69.46(cm?)
12 Aw = 76.72(cm?) Z = 4500.0 (cm’)
I = 134000.0 (cm) i = 8.08(cm)
( ) h = 59.4 (cm) b = 30.2 (cm)
tl = 1.40(cm) 2 = 2.30(cm)
H-700x300x13x24
= 1785.0 (N/m) AF = 72.00(cm?)
13 Aw = 84.76(cm*) Z = 5640.0 (cm’)
I = 197000.0 (cm®) i = 7.95(cm)
( ) h = 70.0 (cm) b = 30.0 (cm)
tl = 1.30(cm) 12 = 2.40(cm)
H-800x300x14x26
= 2030.0 (N/m) Af = 78.00(cm?)
14 AW = 104.72(cm?) Z = 7160.0 (cmd)
I = 286000.0 (cm‘) i = 7.87(cm)
( ) h = 80.0 (cm) b = 30.0 (cm)
tl = 1.40(cm) 12 = 2.60(cm)
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H-900x300x16x28
= 2354.0 (N/m) Af = 84.00(cm?)
Aw = 135.04(cm?) Z = 8990.0 (cm’)
I = 404000.0 (cm‘) i = 7.75(cm)
( ) h = 90.0 (cm) b = 30.0 (cm)
tl = 1.60(cm) 12 = 2.80(cm)
H-912x302x18x34
= 2775.0 (N/m) Af = 102.68(cm?)
Av = 151.92(cm?) Z = 10800.0 (cm’)
I = 491000.0 (cm®) i = 7.90(cm)
( ) h = 91.2 (cm) b = 30.2 (cm)
tl = 1.80(cm) 2 = 3.40(cm)
[-250x90x9x13
= 339.0 (N/m) A = 44.07(cm?)
Aw = 20.16(cm*) Z = 334.0 (cm)
I = 4180.0 (cmY) iy = 2.58(cm)
h = 25.0 (cm) b = 9.0 (cm)
tl = 0.90(cm) 2 = 1.30(cm)
[-300x90x9x13
= 374.0 (N/m) A = 48.57(cm?)
Aw = 24.66(cm?) Z = 429.0 (cm®)
I = 6440.0 (cm?) iy = 2.52(cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 0.90(cm) 12 = 1.30(cm)
[-300x90x10x15.5
= 430.0 (N/m) A = 55.74(cm?)
Aw = 26.90(cm*) Z = 494.0 (cm)
I = 7410.0 (cm%) iy = 2.54(cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 1.00(cm) 12 = 1.55(cm)
[-300x90x12x16
= 477.0 (N/m) A =  61.90(cm?)
Aw = 32.16(cm%) Z = 525.0 (cm®)
I = 7870.0 (cmY) iy = 2.48(cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 1.20(cm) t2 = 1.60(cm)
[-380x100x10.5x16
= 534.0 (N/m) A = 69.39(cm?)
Aw = 36.54(cm?) Z = 763.0 (cm®)
I = 14500.0 (cm%) iy = 2.78(cm)
h = 38.0 (cm) b = 10.0 (cm)
tl = 1.05(cm) 2 = 1.60(cm)
[-380x100x13x16.5
= 608.0 (N/m) A =  78.96(cm?)
Aw = 45.11(cm*) Z = 823.0 (cm’)
I = 15600.0 (cm%) iy = 2.67(cm)
h = 38.0 (cm) b = 10.0 (cm)
tl = 1.30(cm) 12 = 1.65(cm)
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4.4

[-380x100x13x20

= 660.0 (N/m) A = 85.71(cm?)
Aw = 44.20(cm*) Z = 926.0 (cm’)
I = 17600.0 (cm‘) iy = 2.76(cm)
h = 38.0 (cm) b = 10.0 (cm)
tl = 1.30(cm) 12 = 2.00(cm)
L-65x65x5
= 49.0 (N/m) A = 6.367(cm?)
iy = 1.99 (cm)
B = 6.5 (cm) t = 0.50 (cm)
L-65x65x6
= 58.0 (N/m) A = 7.527(cm?)
iy = 1.98 (cm)
B = 6.5 (cm) t = 0.60 (cm)
L-70x70x6
= 62.6 (N/m) A = 8.127(cm?)
iy = 2.14 (cm)
B = 7.0 (cm) t = 0.60 (cm)
L-75x75x6
= 67.2 (N/m) A = 8.727(cm?)
iy = 2.30 (cm)
B = 7.5 (cm) t = 0.60 (cm)
L-75x75x9
= 97.7 (N/m) A = 12.690(cm?)
iy = 2.25 (cm)
B = 7.5 (cm) t = 0.90 (cm)
L-90x90x7
= 94.0 (N/m) A = 12.220(cm?)
iy = 2.76 (cm)
B = 9.0 (cm) t = 0.70 (cm)
L-90x90x10
= 130.4 (N/m) A = 17.000(cm?)
iy = 2.71 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
= 146.1  (N/m) A = 19.000(cm?)
iy = 3.04 (cm)
B = 10.0 (cm) t = 1.00 (cm)
L-100x100x13
= 187.3 (N/m) A = 24.310(cm?)
iy = 3.00 (cm)
B = 10.0 (cm) t = 1.30 (cm)
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4.5

H-250x250x9x14
= 704.0 (N/m) A = 91.43(cm?)
Af = 35.00(cm*) Aw = 19.98(cm%)
= iy = 10.80(cm)
iz = 6.32 (cm) i = 6.91(cm)
h = 25.0 (cm) b = 25.0 (cm)
tl = 0.90 (cm? 2 = 1.40(cm)
Z = 292.0 (cm) 1 = 3650.0 (cm%)
= 625.0 (cm?) = 100.0 (cm)
= 25.0 (cm) = 704.1 (N/m)
H-250x250x9x14
= 704.0 (N/m) A = 91.43(cm?)
Af = 35.00(cm*) Aw = 19.98(cm%)
= iy = 10.80(cm)
iz = 6.32 (cm) i = 6.91(cm)
h = 25.0 (cm) b = 25.0 (cm)
tl = 0.90 (cm? 12 = 1.40(cm)
Z = 860.0 (cm’) I = 10700.0 (cm‘)
= 625.0 (cm?) = 100.0 (cm)
= 25.0 (cm) = 704.1 (N/m)
H-300x300x10x15
= 912.0 (N/m) A = 118.40(cm?)
Af = 45.00(cm*) Aw = 27.00(cm%)
= iy = 13.10(cm)
iz = 7.55 (cm) i = 8.23(cm)
h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00 (cm) 2 = 1.50(cm)
Z = 450.0 (cm’) 1 = 6750.0 (cm®)
= 900.0 (cm?) = 120.0 (cm)
= 30.0 (cm) = 912.0 (N/m)
H-300x300x10x15
= 912.0 (N/m) A = 118.40(cm*)
Af = 45.00(cm*) Aw = 27.00(cm*)
= iy = 13.10(cm)
iz = 7.55 (cm) i = 8.23(cm)
h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00 (cm) 2 = 1.50(cm)
Z = 1350.0 (cm’) I = 20200.0 (cm?)
= 900.0 (cm?) = 120.0 (cm)
= 30.0 (cm) = 912.0 (N/m)
H-350x350x12x19
= 1324.0 (N/m) A = 171.90(cm*)
Af = 66.50(cm*) Aw = 37.44(cm*)
= iy = 15.20(cm)
iz = 8.89 (cm) i = 9.65(cm)
h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20 (cm? 2 = 1.90(cm)
Z = 776.0 (cm’) I = 13600.0 (cm%)
= 1225.0 (cm?) = 140.0 (cm)
= 35.0 (cm) = 1323.9 (N/m)
H-350x350x12x19
= 1324.0 (N/m) A = 171.90(cm*)
Af = 66.50(cm*) Aw = 37.44(cm*)
= iy = 15.20(cm)
iz = 8.89 (cm) i = 9.65(cm)
h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20 (cm? 12 = 1.90(cm)
Z = 2280.0 (cm’) I = 39800.0 (cm?)
= 1225.0 (cm?) = 140.0 (cm)
= 35.0 (cm) = 1323.9 (N/m)
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4.6

H-400x400x13x21

= 1687.0 (N/m) A = 218.70(cm?)
Af = 84.00(cm*) Aw = 46.54(cm?)
= iy = 17.50(cm)
iz = 10.10 (cm) i = 11.00(cm)
h = 40.0 (cm) = 40.0 (cm)
tl = 1.30 (cm) 2 = 2.10(cm)
Z = 1120.0 (cm’) I = 22400.0 (cm%)
= 1600.0 (cm’) = 160.0 (cm)
= 40.0 (cm) = 1686.8 (N/m)
H-400x400x13x21
= 1687.0 (N/m) A = 218.70(cm?)
Af = 84.00(cm*) Aw = 46.54(cm*)
- iy = 17.50(cm)
iz = 10.10 (cm) i = 11.00(cm)
h = 40.0 (cm) b = 40.0 (cm)
tl = 1.30 (cm) 2 = 2.10(cm)
Z = 3330.0 (cm) I = 66600.0 (cm?)
= 1600.0 (cm®) = 160.0 (cm)
= 40.0 (cm) = 1686.8 (N/m)
[-150x75x6.5x10
= 182.0 (N/m) A = 23.71(cm?)
iy = 2.22(cm)
h = 15.0 (cm) b = 7.5 (cm)
1 = 0.65(cm) 2 = 1.00(cm)
[-180x75x7x10.5
= 210.0 (N/m) A = 27.20(cm?)
iy = 2.19(cm)
h = 18.0 (cm) b = 7.5 (cm)
tl = 0.70(cm) 12 = 1.05(cm)
[-200x80x7.5x11
= 241.0 (N/m) A = 31.33(cm?)
iy = 2.32(cm)
h = 20.0 (cm) b = 8.0 (cm)
1 = 0.75(cm) 12 = 1.10(cm)
[-200x90x8x13.5
= 297.0 (N/m) A = 38.65(cm?)
iy = 2.68(cm)
h = 20.0 (cm) b = 9.0 (cm)
t1 = 0.80(cm) 12 = 1.35(cm)
[-250x90x9x13
= 339.0 (N/m) A = 44.07(cm?)
iy = 2.58(cm)
h = 25.0 (cm) b = 9.0 (cm)
1 = 0.90(cm) 12 = 1.30(cm)
[-300x90x9x13
= 374.0 (N/m) A = 48.57(cm?)
iy = 2.52(cm)
h = 30.0 (cm) b = 9.0 (cm)
t1 = 0.90(cm) 2 = 1.30(cm)
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4.7

[-300x90x10x15.5

= 430.0 (N/m) A = 55.74(cm?)
iy = 2.54(cm)
h = 30.0 (cm) b = 9.0 (cm)
1 = 1.00(cm) 12 = 1.55(cm)
L-65x65x5
= 49_00(N/m) A = 6.367(cm?)
iy = 1.99(cm) iv = 1.28 (cm)
B = 6.5 (cm) t = 0.50 (cm)
L-65x65x6
= 58.00(N/m) A = 7.527(cm?)
iy = 1.98(cm) iv = 1.27 (cm)
B = 6.5 (cm) t = 0.60 (cm)
L-70x70x6
= 62.60(N/m) A = 8.127(cm?)
iy = 2.14(cm) iv = 1.37 (cm)
B = 7.0 (cm) t = 0.60 (cm)
L-75x75x6
= 67.20(N/m) = 8.727(cm?)
iy = 2.30(cm) iv = 1.48 (cm)
= 7.5 (cm) t = 0.60 (cm)
L-75x75x9
= 97.70(N/m) A = 12.690(cm?)
iy = 2.25(cm) iv = 1.45 (cm)
B = 7.5 (cm) t = 0.90 (cm)
L-90x90x7
= 94.00(N/m) = 12.220(cm?)
iy = 2.76(cm) iv = 1.77 (cm)
B = 9.0 (cm) t = 0.70 (cm)
L-90x90x10
= 130.40(N/m) = 17.000(cm’)
iy = 2.71(cm) iv = 1.74 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
= 146.10(N/m) = 19.000(cm?)
iy = 3.04(cm) iv = 1.95 (cm)
B = 10.0 (cm) t = 1.00 (cm)
L-100x100x13
= 187.30(N/m) = 24.310(cm?)
iy = 3.00(cm) iv = 1.94 (cm)
B = 10.0 (cm) = 1.30 (cm)
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4.8

4.9

L-65x65x5
= 49_00(N/m) = 6.367(cm?)
iy = 1.99(cm) iv = 1.28 (cm)
B = 6.5 (cm) t = 0.50 (cm)
L-65x65x6
= 58.00(N/m) = 7.527(cm?)
iy = 1.98(cm) iv = 1.27 (cm)
B = 6.5 (cm) t = 0.60 (cm)
L-70x70x6
= 62.60(N/m) A = 8.127(cm?)
iy = 2.14(cm) iv = 1.37 (cm)
= 7.0 (cm) t = 0.60 (cm)
L-75x75x6
= 67.20(N/m) = 8.727(cm?)
iy = 2.30(cm) iv = 1.48 (cm)
B = 7.5 (cm) t = 0.60 (cm)
L-75x75%9
= 97.70(N/m) A = 12.690(cm?)
iy = 2.25(cm) iv = 1.45 (cm)
B = 7.5 (cm) t = 0.90 (cm)
L-90x90x7
= 94.00(N/m) = 12.220(cm?)
iy = 2.76(cm) iv = 1.77 (cm)
B = 9.0 (cm) = 0.70 (cm)
L-90x90x10
= 130.40(N/m) = 17.000(cm?)
iy = 2.71(cm) iv = 1.74 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
= 146.10(N/m) = 19.000(cm?)
iy = 3.04(cm) iv = 1.95 (cm)
B = 10.0 (cm) t = 1.00 (cm)
L-100x100x13
= 187.30(N/m) = 24.310(cm?)
iy = 3.00(cm) iv = 1.94 (cm)
B = 10.0 (cm) = 1.30 (cm)
[-150x75x6.5x10
= 182.0 (N/m) A = 23.71 (cm?)
iy = 2.22 (cm)
h = 15.0 (cm) b = 7.5 (cm)
tl = 0.65 (cm) 12 = 1.00 (cm)
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[-180x75x7x10.5

4.10

= 210.0 (N/m) A = 27.20 (cm?)
iy = 2.19 (cm)
h = 18.0 (cm) b = 7.5 (cm)
tl = 0.70 (cm) 12 = 1.05 (cm)
[-200x80x7.5x11
= 241.0 (N/m) A = 31.33 (cm?)
iy = 2.32 (cm)
h = 20.0 (cm) b = 8.0 (cm)
t1 = 0.75 (cm) 12 = 1.10 (cm)
[-200x90x8x13.5
= 297.0 (N/m) A = 38.65 (cm?)
iy = 2.68 (cm)
h = 20.0 (cm) b = 9.0 (cm)
tl = 0.80 (cm) 12 = 1.35 (cm)
[-250x90x9x13
= 339.0 (N/m) A = 44.07 (cm?)
iy = 2.58 (cm)
h = 25.0 (cm) b = 9.0 (cm)
tl = 0.90 (cm) t2 = 1.30 (cm)
[-300x90x9x13
= 374.0 (N/m) A = 48.57 (cm?)
iy = 2.52 (cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 0.90 (cm) 2 = 1.30 (cm)
[-300x90x10x15.5
= 430.0 (N/m) A = 55.74 (cm®)
iy = 2.54 (cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 1.00 (cm) 12 = 1.55 (cm)
L-65x65x5
= 49.0 (N/m) A = 6.367(cm?)
iy = 1.99 (cm)
B = 6.5 (cm) t = 0.50 (cm)
L-65x65x6
= 58.0 (N/m) A = 7.527(cm?)
iy = 1.98 (cm)
B = 6.5 (cm) t = 0.60 (cm)
L-70x70x6
= 62.6 (N/m) A = 8.127(cm?)
iy = 2.14 (cm)
B = 7.0 (cm) t = 0.60 (cm)
L-75x75x6
= 67.2 (N/m) A = 8.727(cm?)
iy = 2.30 (cm)
B = 7.5 (cm) t = 0.60 (cm)
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L-75x75x9
5 = 97.7 (N/m) A = 12.690(cm%)
iy = 2.25 (cm)
B = 7.5 (cm) t = 0.90 (cm)
L-90x90x7
6 = 94.0 (N/m) A = 12.220(cn?)
iy = 2.76 (cm)
B = 9.0 (cm) t = 0.70 (cm)
L-90x90x10
7 = 130.4 (N/m) A = 17.000(cm?)
iy = 2.71 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
8 = 146.1 (N/m) A = 19.000(cm?)
iy = 3.04 (cm)
B = 10.0 (cm) t = 1.00 (cm)
L-100x100x13
9 = 187.3  (N/m) A = 24.310(cm?®)
iy = 3.00 (cm)
B = 10.0 (cm) t = 1.30 (cm)
4.11
No w h W A | VA
(mm/ )| (mm) (kg/m?) (cm*/m) (cm*/m) (cm’/m)
111 400 100 48.0 153.00 8740 874
2|11 400 125 60.0 191.00 16800 1340
3|1 400 130 60.0 191.00 17400 1340
411V 400 170 76.1 242 .50 38600 2270
5| VL 500 200 105.0 267.60 63000 3150
6| Ilw 600 130 61.8 131.20 13000 1000
7w 600 180 81.6 173.20 32400 1800
8 | IVw 600 210 106.0 225.50 56700 2700
4.12
No H B tw tf A w Ix Zx
(m) | (m) | (mm) | (mm) | (em®) | (kg/m) | (cm?) (cm®)
1|H 100x 100x 6x 8 100 | 100 6.0 8| 21.59 16.9 378 76
2 |H 125x 125x 6% 9 125 | 125 6.5 9| 30.00 23.6 839 134
3 | H 150x 150x 7x 10 150 | 150 7.0 10 | 39.65 31.1 1620 216
4 | H 175% 175x 7x 11 175 | 175 7.5 11| 51.42 40.4 2900 331
5| H 200x 200x 8x 12 200 | 200 8.0 12 | 63.53 49.9 4720 472
6 | H 250x 250x 9x 14 250 | 250 9.0 14| 91.43 71.8 | 10700 860
7 |H 300x 300x 10x 15 300 | 300 10.0 15 | 118.40 93.0 | 20200 1350
8 | H 350x 350x 12x 19 350 | 350 12.0 19 1171.90 | 135.0 | 39800 2280
9 | H 400x 400x 13x 21 400 | 400 13.0 21 [ 218.70 | 172.0 | 66600 3330
10 | H 400x 400x 18x 28 414 | 405 18.0 28 [ 295.40 | 232.0 | 92800 4480
11 | H 400x 400x 20x 35 428 | 407 20.0 35 (360.70 | 283.0 | 119000 5570
12 | H 400x 400x 30x 50 458 | 417 30.0 50 | 528.60 | 415.0 | 187000 8170
13 | H 400x 400x 45x 70 498 | 432 45.0 70 | 770.10 | 605.0 | 298000 | 12000
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4.13
No w h W A 1 z

(mm/ ) | (mm) (kg/m?) (cm’/m) (cm'/m) (cm’/m)
1 A 250 36 14.8 75.40 107 60
2 B 333 51 17.9 68.28 510 144
3 C 333 85 19.3 73.80 2000 272
4 D 333 74 21.6 82.53 636 171
5 E 500 160 33.6 85.70 3620 452
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